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2. f(x)=x"+3x" +4x—12
(a) Show that the equation f(x)=0 can be written as
4(3—x)
=4l —== #-3
* ¢(B+m)’ *

The equation x’ +3x° +4x—12 =0 has a single root which is between 1 and 2

(b) Use the iteration formula

_ (4G =x)
X1 _\/( (3+xn) ),I’l > 0

with x, =1 to find, to 2 decimal places, the value of x,, x, and x,.

The root of f(x)=0 is a .

(c) By choosing a suitable interval, prove that o =1.272 to 3 decimal places.

3 <
X + 32 +4x -12 =0

a) 3 z
> +3x = 12 —4=
xz(x+3>= 4(3-=2)
JLL = 4(3"1)

3+

x = 4. (3-x)
(3+x)

(b) Use the iteration formula

_[3C—x,)
xn+1_\/( (3+xn)),n>0

with x, =1 to find, to 2 decimal places, the value of x,, x, and x;,.
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k) /4(3—1)
x - e~ 7 = o
1 570 l.414 lLal ¢ zof.f
X2 T 4(3-14@) = 149 = (.20 Eo 24y,
(3+1-a14)

X3 F /4(3’_""‘“) - 1.31o = 1.3] bo2dy,
(3+1.199)

f(x)=x"+3x*+4x-12
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The root of f(x)=0 isa .

(c) By choosing a suitable interval, prove that a =1.272 to 3 decimal places.

3 2 -3
L2s + 3(1.2715) + 4 (1.2ns) =12 = ~f2txo <0
1.27253 + 3(1.2—:2;)" +—4(l.z7zr) —12 = 8.27x uo's >0
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